.’_

- S T RN dHlEBEERER 1

L]

Nig; @fﬁ%@tﬁmm%u%ﬂ%mmﬁgmm@mmmﬁmm%|qﬁmﬁﬂaﬂwﬁﬂ'¢'

(GRTE-QETH) HT AHR TR ? =)
(A) T . (B) WaH™ ﬂ, © e, (D) aﬁﬁqa 0
A cylinder-is intersected b}} a plane incline

t an angle of 45 degrccs to its axis. What is the shape of the
rcsultmg cross-section 7 -

(A) & arabola ©&) (C) Hyperbola i (D) E]li]ﬁ‘se
3l SRA : :
5. aﬁcmmaﬁamu% zﬁnosamaaza@'? £ ; g
If the code for CAT is DBU, what is the 68§ for DOG ? : . RO
(A) EOF . (B) DPFa ' 3% EPH (D)’EPF
S, TR - y B,
TR AN 2 . = U S
@ : ® T (©) st )
Complete the analogy. - ' :
"Glove:Hand::Sock:? =~ @ O .
(A) Shoe (B) Foot - <] ' (© Am % (D) Head
4,  UEEHERT| ' 5y & -
Saftg-anft ; saferam Tﬁﬁ'l'@"il‘ ? ® _ Y
(A) wEfe ¢ 0 (B) wige A © wEvES (D) #R
Complete the analogy. : e i B ;
AsEmnaut: Spacecraft : : Diver: ? 03 o e .
(A) Bicycle (B) Submarine @) (C) Airplane (D) Car

5. AR YENg@AiRmw] °
Find eSissimilarnumbers. .{-3 A o 2 U\g
- (A) "4,9 | 8,27 (©) :%,81 (D) 16,25
6. lﬁmwwﬁﬁaﬁmm@?%wm@w@mmﬁmﬁjﬁw
o G () T A 2, A TROHT SR (HE-A) AT R e 2 =
o (A) ITEQRT) @) vENREY) () R Qi ©) e o)

A4 If you have a regular icosahedron and;yOu@ce it along a plane that intersects six of its Taces, what is the
shape of the resulting cross-section ? s
; (A) Rectangle ,(B) Hexagon O (C) Trapezoide (D) Pentagon <
7. Frafaied see d Ted Sen £ i :
7 Identzf)zﬂle incorrect number i in 1he followt senes A ® J

) %H} ® 74 o @ o (@ Bk e Py i3

aﬁmﬁaﬂtmmﬁg@ﬁm%w mﬁmﬂﬂﬁﬁﬁﬁ?ﬁﬁ%ﬁaﬁnﬁwmﬁmm
h"ﬁaﬁa%‘? v

T (A) TR (B # ﬁg. (©) ﬁft G = (D) &

Pointing towards Aneesh, a woman sa1d mother is the only dau%hter of my mother.” How is the
woman related to Aneesh 9

\ | X .h La VA
_....&)_ Grandmother ,~ (B) Mother (C) Daughter = (D) S}ster _
OWZ24 UL ) Page 2 of24-h_“_-““"“""""“"'"“: ''''''
‘»5“5-54 ?&f
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- Lt

o, SR (1, 2, 3, 4) Sre-sre T G -, S, 0 s gy | R s 3 8 1 9 v R
aﬁﬁ%mﬁ%qﬁwmﬁs%wﬁmﬁmﬁwiﬁqaﬁsi%ﬂgﬁ%%wwﬁﬁ%mﬁ%ﬁaﬁ
wgm%l
(A) 1—31?rr,2~éﬁ,3-@qg,4-aa Q) @ 1-¥2-Fm 3w 4w
(©) 1-%, 2 -8, 3 -G, 4 - <] (D) 1—%,2—m,3—gsg,4-ﬁa
Four people (1, 2, 3, 4) each pick a different fruit — apple, banana, cherry and date. The person whlc; 'picked

the apple is next to the person who picked flie banana and not next to the person who picked the date. The
person who picked the cherry is next to the person who picked the date.

The correct combination is : e
(A) 1-Banana, 2 — Cherry, 3 - Date, 4 —d@ple (B) 1-Apple, 2 —Banana, 3 —Date, 4 — Cherry
(C) 1-Banana, 2 — Apple, 3 —Date, 4 - @}rry (D) 1 - Cherry, 2 —Banana, 3 — Date, 4 — Apple

10. T e 6 veeht amefr (X) # fw e gaet & F-HT Sepiaat s St Ewd g |

Find out which of the figures can be formed from the pieces given in the first figure (X).

® q
s : O
®
) J
$k .
(A) (B) 6% (@) E& (D)
e ™
11. a7 Brysi it @e 3 A |
Find the number of triangles in the figure.
O
O
@,
O
@) 16 ®) 12 . @ ©) 9
12. famarghe ) \
Choose the odd one out. ,
oo PR RE o Bage (©) QR (D) KL
e 2 | 526 &7 Page3 024 T e
O‘) 5‘“‘5"7&, f—) 'l ‘/L
4 £ &
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2 seSaapginnnl '

! L]
B oy,
13, foe fom i srafRue SRt () EE 6 Hif
Find out the number of the cubes that ar%;rrangcd in the figure given :

O
<
Q
®

Q) _
A) 16 B) 24 ;2}9 17 D) 18
14, Prefafea i & Fa-a eniva/de wftemsd, et HRAT-Rar (S9e) % i day @ i s 2

Which of the following diagram/set indicates the relation between women, mothers and parents ?

15) a@ﬁwmnﬁrﬁamﬁﬁmwﬁmaﬁmwwﬁ
Find the mirror image of the figure, if the mirror iﬂﬂaced at XY.

X )0l
©

O el T T ——

oWz BTy =~ T R - Sgrmmnnees
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l.Jl'.'

% @ waet @WABCDEWF&%%@H%%I ?efﬁﬂa;rﬁm%w,gﬁm
AR S | C o i R ol A F Frfea 2 T8\ B, E A fra ymwEfa 2 2
V@) T (B) & O i (D) =f

; In a family of six members, A, B, C, D, E and F, lhtﬁar{: two married couples. D is a teacher ‘and the

fagher of E. F is the grandmother of E and a housew:@c is a lawyer and married to A. B is not a male
olv is B related to E ?

~ (A) Father , (B) Sister (O Aunt (D) Molher
@ 3f T ST W ST T AThe 78 ¥, 1 Tl He g de e ?

If the sum of three consecutive even numbers is 78, whad§is the second largest number " 5
(A) 30 ' (B) 24 GB)28 CSG
- g . (3 i 0 % b@
g%
% - 3 =

18. s@erH R 2
Whitswl b ext number in the seri
¥, 18,75, 350, ..

O
@ 1260 (B) 2180 ; (C)_ 1820 (D) 2160
19. WIS F AER, IF 0, 1, 2,3, 4 I FE: A, B C,D, Eﬂﬂmm%l[$+E)u(D+A)]$rmm
s :

According to the code, digits 0, 1, 2, 3, 4 are represcn@ by A, B, C, D, E respectively. Fmd the value of
[(B+E)-(D+A)] :
@) -2 ®) 1 (OD3 @ 2

(@.9, 20 24 T 94) 05 ,

fovem 1 e Sit e e 2o g st it TRE G Pl aitafia R & o sfieT i e
Tfrefterar 2 €t 2, TET ARy, e, ot ait aei ST e & afesha w0 e o B uwi s e ) Resd
Tt 7 Ferhre 3 T S 3 T A Pt w3 v & g g € for % g A uge e ik gw s et
et w1 a7 Ara s o1 A +f 2 e { | gafg A s snfores g ) wre-ay o s < st
%, Forers forr i Fow sreevge am er 1 55 w7 | e <Y e A g o &g S St R, Tt fOe e S S
1 30 e ) T T R T v e 1 A S e 1 s 2 W | sl e et
mmﬁmmm&aﬁﬁ%nﬁrmqﬁ%eﬂwﬁﬂmmﬁaﬁaﬁ%mﬁwér

20. i it ST & Y U T 2 2 O
Arep-anifones gl ) a0 (ER) foes sftaa-yat 1 fufor s
(@ =& e 6t forma e m%@ﬁr_wwqﬁwﬁamaﬂ%
21. T forehe <k watritor & et ST W &,
(A) sitfers o ofea ofafia s |
B) frmF@aRa s A S| ' ®
Sfa= 7 STt iofierar 1 g T ger |
arfee, o, e i wee s & Praifa )
22. -frepie it arearar: i watar 31 aft weva @, s gty
R IR TR TR 21 T, 3hT 4T S fAT W |
(€©) e st i faerfa forar ST | (P) T S T, 2 78T S WY |
T T L e T
\1‘5“"5‘?&(
v, Q
Sl tum =t .
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23, IS T WG I ARee 3 ke & v gafend viewrey , Hifen ;
(A) T8 diftm sifees aiei et g1 /@i T S0 3 i ARAEH T8 2 |
@ ST AT FH S ST | 17 o g forr <t forearereh Wit § wanfia @ |
24.) Tl Frga R 6 watfires wewgl 27 €D
o (A) e gation fon |
* (€ mifasfie e = yemEad |

% ®) e el Mo by
2 P e s %

(D) sfta =1 widt fam |

e ® © @ &
‘26, Pl ddwRd v st 5 .,
(A) T ® s () st O™
27, R R ¥ . s PR
@ (-) ® () o ©wW O (=) o

28. %qmﬁ‘m=mmmﬁﬂw%aﬁ§m%?

(A) T8 TIH A D17 | €BY. T orwat foram it ST T
©f srot g enftansmy) C@) I, g SIA |
29. YHERTC HTHHRE : O ? : . |
@ swm @ wEfm g (O gwIE (D) weew
30, “IFTE’ Y6 T AHOEIE FTE 2 ol : -
@) swmaEm (B) TdwEmg® (0), fuet (?a'traaﬁ :
S TS R e R €T, e REAR
(A) TS T 8 WA B | (B) WEatEAT
(C) T A9+t nfinar @ (D) Wad FI T FeAT
32. W A BH-ATEAER 2 . \
(A T ®) semdvE ] (C) g @) fag
33, Pl i & 7 w1 R v AR R 2 _ i
A ®f @ ©fwm o @wE .
34. T gl i Rrr A & g2 €) i A
(A) ST YT e & o (B) mwteiwsy 0 X
(C) 3T ST aY S 7T o¥ (D) oyt = RYAT S5
35, ‘mﬁmmﬁ’z@mmﬁa&mﬁmwaﬁmm%? S R
(A) diEa (B) e © wE@m v (D) & N
36. Tt v 3 forey e SrenTart qeeHTC 3 o v 8 & 2 : £ A
(A) ghorerds  (B) shewm@amw () fawyd (D) WG Sgadt
37. ‘3 - e yee-g T HET I § : . : ok
_____ (&) e e B) FW-3af | () WPE-IFEE (D) Iaf-gw
Ll B e T e S S
SWASAT,
N Sy )
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. Foma s ims et
(A) T VT (B) TH A (C) T v (D) B Y
y0. O W R and 3

() P (B) wfim () F=i= (D) famE
40, UF W Wi wf ww wngmm |

Teramoe et e ot o s v )

T i § Ry TR

(A} AR (B) AR {ca:lflim (D) TR
4. Fefofmm i s shm = it e _

(A) = (B) H {@;m (D) T
4. TEAET e R R e .

I (A) SRR (B) S (G BT (D)

O, s e m S R

(A) e - {@ﬁmﬁﬁa,—ﬂﬂﬁ

(€)@ -Fe= (D) =ué = s

4, Fmaiaa il e i Tsm Tt T
(A) BETEERE (B) HEMAEE {%Hﬂﬁﬂh‘m (D) wweiRadaE | -

s TRTEmiwa e Fhrm =t B D

(A) HI= (B) HTE {Egﬂﬁ Ny (D) TE.
46, Hﬁﬁﬁﬁﬂﬁm#qﬁmmwﬁq :
(A) siior st i ol : (B v & avde iy Y=g
() viTe st o £ | 4 Oy v Wt L,
1. amm'ﬁrqtfaﬁaﬂm AR AT od pill
(A) T2 ¥ o g & B e (HE T &
(€) , Tl e o = (D) spefiar 3 o S =
48, T § & =i = ad Al dam b
(A) T+ By =L +T% (C) W+ () =/ + &
. m]gmmhmﬂtmﬁmmmﬁﬁmﬂm@
) sz (B) o jdmgmain (D) el
5. ﬁqﬁmrﬁﬁmmmgmmmﬂmﬂ
() =i (B) qw [t@mfﬁﬂ (D) W
5L #Ram i smTiee : | Y
(A W @ @ ' 1% D) %
52, T A g B A e e
(A) v T () ¥, Em {L‘} T, A (56 =i, wm
GWZ3 T '“““‘+7;+{/%ﬁrﬂ"*‘““‘“""'"""“"'"“‘“‘““'"'
£/ rve 2L
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8N, wen v & few watward we sifau

(A) iz (B) vgEh \ (C) e (D) mfdz
C&D ﬁnﬁmﬁﬂmnﬁmm%%@jﬁmwl
(A) R (B) 3yt < (C) ek (D) I

5. Fferfian st i waen e fa fases o iy i wefifa o e 7
VIeT - WWTEHT, 3T, 33T, foera ®
(A) 1, HTF, HTHI, 3TH ) (B) 3T, 3ATHT, HTeh, I
(C) ST, F1, JTHL, 3% 3t (D W,miﬁ,am?,w

¥[& a1 A i | @
(A) @ TR Wt €1 7 3y, T e 7T 8| (B) mmtﬁmﬁaﬁgzo

(C) wrea A ww R i, freft 1 srea s fRarsme) (D) wwa;lﬁﬂqgnffﬁnaﬁ ac—’ﬁrg‘éi\

afz ofem &1 2fem-afem @ sz far s, a3 fohed aee fomm smom 9
(A) Jatgd (B) Iu-ufEm ® (C) aféqurufem (D) afi:mr
If West is replaced by South-West, then No{l} will be replaced by :

(B) North-West (C) South-West (D) Sout

l% orth- Easl
:aas ufé:g; qm‘rl(ZFw%aTm% ?hszm%fa@am? "jD

If954?4 18 wnllcn as KGFIF, then how W|@2143 be written ?
“(A)\JCDEF (B DCF S JDCEF
p W
59, ﬁmmmaﬁﬁﬂq | QV

Find tm\mber in the followmg series
1l L0736 N\
w nsz (B) © 12 (D) 144\()'
60. qaaasﬁ%mag%a?rvh?m%ﬂ ?ﬁET Qwéﬁﬁmaﬁﬁwéa%l a@wmﬁwm
(A) g ®) J  © -
Introducing a boy, a girl said, “He is the @ of the daughter of the f my uncle.” How is th
related to the boy ? @
(A) Brother (B) Father C] (C) Mothe (D) Sister

61. HEer ¥ ITelt G I F 6,24, 120, TR,

Find the next number in the series 6, 24, 1 20,

(A) 5004 (B) 5 ‘3«\ Yy Wl 5040 (D) 5400
@mﬁmmmﬁmu,at,? g\,
Find the next number in the series 11, 39775, 119, A
(A) 171 (B) 16l ©) 191 - (D) 181
L e e s Page8of24 1 TTTTTTTTTITTIRTTTTTTTmmsmmamsees
\"'QHASA}-”{
WL _o‘_
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63. T vrd v ey e 3 Fafir At (YE ¥ i) ) 2wtk &, S el o B (s s s
Sl % fiu v 0t Y A S @R

T ATITEIY Tt 5T 2SI 68 % WTeAm @ T 4910 e & ey Tiasr &1 e & & for, sifrsrad 20%
I T NTUH Fd §U, SATSTE TS h et et TRT Tl o bt STATa & STt =nfee 2 :
(A) T5500F3 (B) TS8R  (C) TSAFAS . (D) T4845FHIS ~

The given pie chart illustrates the various $ources of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phase -l{ Projects.

External Assistﬁ_ce
11,486 ",

Market Borrowing
29,952

<

To support the project with 4910 crores thropgh toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total @lﬁount that the outsourced agency should be permitted to
collect ? . '

(A) T 5500 crores (B) T 5892 crores {J (C) ¥ 5254 crores (D) T 4845 crores

6. T, w107 AR 3 36 R | e o €9

In a class, Sambu is ranked 10! from the tof: ?&t} 36" from the bottom, How many students are there in

the class ?
(A) 47 (B) 45 (C) 44 (D) 43
GWZ-24 =~ ~TTTTTTTTTTTTTTTTT ‘ """""""" e i e
b
367 Q“ASA?‘Q,
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65, K. LAush iy | Nawa ) NKAIAR smfs o, MA R R OF K G 7 wav B2

(A) &g (B! @ (C) =t (D) firar
K is L's wife and M is L s sister. N is the daughter of K, while O is M's mother. What is the relation of O
wok?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father

66, @t nd sien § & faw G@mer) 7 e A
Find the odd one ouﬁmag* given series ¢ O
486, 482, 478, 474,873, 60, 6> € =
(A) 466 (B) 478 (LSLH (D) 474

67. wF T 50 frendie fa w2 £ nfa & 250 frainfter £ gftda Feft # | gt o § e s @i 2
(A) 7w (B) S¥e | (@) 6 52 (D) 4%
A bus travels a distance of 250 kilometers at a speed ot; 50 kilometers per hour. How much time will/t fake
to complete the journey ? H:
(A) 7 hours (B) 5 hours (G 6 hours (D) 4 hou(y\______..,-—-
Feferfan sy H e #Rd & 2 ®) p
WhaLYy \ ber in the following sequence ? % .
§. 1%, 9, 360, 108h, 21 ,0 Q’a
(A) 1080 (B) 2160 (€) 0 (D) 360
7§ INSECT # JQTFDU, HOUSEFLY ' IPVTFGMZ % ®Y ¥ Feaig far e 8, @ BUTTERFLY &
fore waR e fora s 2 &

© DI INSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFLY-will be codedras,_ |

(A) GMGUUCVF  (B) BVUUGMSG (C)'CVULUSGMZF  ((D) CVUUFSGMZ

70, W XFEHL, NZFIWAR IR P, zHRurd e, ap, v Ffrafeamd g 2 - q{f@
LLA) aftor-qd (B) I-ufEm (CY =fiqur-ufsm (D) S
(P,) 6 O is in the East of X which is in the North of Z. If P is ‘ixﬂhe South of Z, then in which direction of Y is P ?
(A) South-East (B) North-West (CYE: South-West (D) North-East

|2~
- @aﬁﬁ?{qa;rﬂ%aﬁzs%mqtémlzrfé‘aﬁ@fsﬁ?%wﬁ@ﬂmms@rﬂazmﬁm.?ﬁaﬁ y
T T BT | SIS 1 553 e 41 41 2 @

\ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo\ f&&ss, he w
have made a profit of 36%. The cost price of the horse was :
\

Z>( (A) T2,000 (B) ¥2,500 (C) 1,800 (D) 1,500

72. 3% EXAMINATION % VCZNRMZGRLM % &9 # i foa Smat 8, df WRJTTEN i ol S e

L]

o ? s @)
INATION is coded as VCZNRMZGRLM, thén]how will WRITTEN be coded ? e
.*-'-’_—-—_
) IRGGVM IDGRGMV (@) ) DIUGGMV (D) DIPGGMN T3 @
73. A B 3t C % 3ftaa w40 fraimm 2 | aft A stk K& sitaa asm 30 freiam & @ B ok € =7 offwm
f

ao 70 freiam 8, @Y B fTas T 2 ’ O)
(A) 18 et (B) 17 fehetom (G, 20 Foreitom (D) 21 foreitmmm
. The average weight of A, B and C is 60 kg. If the avegage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ? &)
) sk ®) 17k (©) 20 ke ©) 21 ke
GW.Z-24 Page 100f24 T
\"Q“ASA?‘Q, |
Q. %
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65. K.L %’ltra"hh-ﬁni L #ﬁmkr N. I\‘ﬁ%ﬁ# wafs Q, M AT R | O T K G 71 daiel & 2

(A) (B @@ (C) wuf () form
KisL's \\lﬂ and M is L's sister. N is the daughter of K, while O is M’s mother. What is the relation of O
toK?
(A) Father-in-law (B) Mother-in-law (C) Mother (D) Father
66. @ 7 sien & faww (@Ane) F 3 A
Find the odd one uulngm given series : ®
486, 482, 478, 474, 37 o) 6 )
(A) 466 (B) 478 © lan (D) 474
67. F 7w S0 Pz wfi w2 A nfy & 250 Freiie £ gflda Feh @ | 76 gl w0 e a2
(A) T (B) 5¥i . (@) 65 (D) 4%
A bus travels a distance of 250 kilometers at a speed o( 50 kilometers per hour. How much time will/it fake
to complete the jourmey -
(m 7 hours (B) 5 hours (G4 6 hours (D) 4 houfs\ —
e A 2 2 Q) @
ber in the followmg sequence ? N s
f?ﬁé’"m ' qr
(A) 1080 (B) 2160 < 0 (D) 360
7f INSECT I JQTFDU, HOUSEFLY &I IPVTFGMZ % &9 # g 34T ST 8, @ BUTTERFLY &t
for yarm Fpearg forma s 2 ®
© PLDIINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFL !
(A) GMGUUCVF (B) BVUUGMSG (a& CVUUSGMZF
L W XFEAR A ZzHFIWAR IR P, zH R A R, By ¥ i L»l‘!@
%A) aféor.qd (B) Iw-ufEm gfeqor-afim (Dy ITTqd
) 6‘ O is in the East of X which is in the North of Z. If P is m-lhc South of Z, then in which dlrcctlon of YisP?
(A) South-East (B) North-West (GYE South-West (D) North-East
71. | O AT F O 9IS Y 25% o W AT | A @ @ 35%%@%31%3&? 732 9 § ST, A 39
T AT BT | ©ITS o 560 e T 90T 2 = %6)
fL \ A person sold a horse at a gain of 25%. Had he bought it for 35% less and sold it fo\ ss, he
have made a profit of 36%. The cost price of the horse was :
(A) %2,000 (B) ¥2,500 (C) 1,800 ' (D) ¥1,500
72.  df& EXAMINATION %! VCZNRMZGRLM % &9 § W%&n ST &, T WRJTTEN ! {5 SR e
feran ? - @,

INATION is coded as VCZNRMZGRLM, th'é‘/nlhow will WRITTEN be coded ? g

IRGGVM IDGRGMV (@) ) DIUGGMV (D) DIPGGMN T} @
A, B 3iR C &1 3itaa asi,40 foreimm & | afe A it B3 sivea asi 30 Tl € @ B 3l C & aifem
T 70 fFammI &, A B HasH TR 2 . )

(A) 18 fremm (B) 17 faretimma (G- 20 e (D) 21 feremm

The average weight of A, B and C is 60 kg. If the avgrage weight of A and B is 30 kg and that of B and

73.

]
C is 70 kg, then what is the weight of B ? 3 j
. . ® kg .. (€) kg ... 02k
Gw.z24 T Page100f24 T
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74. 40 BT O FE A, 15 o frbe Qe ¥ 3l 15 o1 2w Qe § ol S o A A de B | @ S i A
w13 Wi Wt TE el ATt ot Y e d
In a class of 40 students, 15 students play cricket and 15 sfudents play tennis, and 5 students play both the
games, Then the number of students who play neither of l?c two games is :
(A} 10 (B) 15 (C)~35 (D) 25

75.  0.05,0.5,0.25, lzsrﬁwmaﬁm(ﬁcmmm&)
Find the HCF of 0.05, 0.5, 0.25, 1.25.

(A) 05 (B) 0.05 325 (D) 1.25

76/ TSI WEA g1 Hifore w4, 6,7, 8aﬂ19ﬁﬁmﬁamﬁmnﬁ$mﬁm3m%|
Find the smallest wu which when divided by 4, 6, 7:8and 9 leaves the remainder 3 in each case.
" (A) 504 (B) 507 (C) 510 (Dy 501

77. AT 30 Sl T AT Y 40 o o e e o e B, | wf sl w2
If the cost price of 30 tables is equal to the selling price of 40 tables, then what is the loss percentage ?
(A) 30% (B) 26% (€Y 37.5% (D) 25%

78. T Bt fershal F© wat T (0 41 v d ST ) SR dRE 10 s ER AT | ¥ T8 LR
FIT20F 9 TH Aaar & | Iweht FIf ar T Wit (B2

(A) @™ 15% (B) %lﬁsrmm

(©) = wfaee 12% (Dyka af T @

A fruit seller buys some oranges at the rate of 4 for T lﬁ%ﬂd an equal number more at 5 for T 10 Then he
sells the whole lot at the rate of 9 for T 20. What is his 10ss or gain percentage ?

. 1
(A) Gain percent 18—.;: % (B) Loss percent lg- %
(C) Loss percent 12% (D) No loss or no gain

79. W e 3 e fafda w150 A # g & h)zoo sttt w1 fages fomam | afe 50 femi F e
Ush- TS ST T T, QU T h B RO A 6 fow, s R s et sifafen arfent S wer s
2 O

Indian Railways employed 200 workers to complete a ¢effain work in 150 days. If only one-fourth of the
work had been done in 50 days, then to complete the wholF work in time, what is the number of additional
workers to be employed ?

(A) 600 (B) 100 (C)ugoo (D) 300

80. 12 &Y 3K 18 Rfgemd v Fm F 10 foi # o whd € 1| QEw 31 18 wfeend S w12 R & W= v
132 2 qou 3R 3 Afeard o w3 W A 8, A e R g e € 2

(A) 70fH (B) 80f (C) 60T (D) 50
12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same work in 12 days.
If 2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 70 days (B) 80 days (C) 60 days (D) 50 days

DT e e e I ——
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. 2t sy uhta M u S w St S i IS TE I
L B e e E E he tt BlE i s L AL Lk A Rk o i v
g T
(A) 1208 By 1T0= O 13 (D) 12450
Two trans travel m the same drection 32 9 m b and 32 lon by and the faster train passes 2 mao o e
slower tram m 16 seconds. Find the kength of the faster train. ~’

e
(A) 120m (B) 1M0m O I B= N (D) 124

8. EFFAFNERI ST A T N P S TeESaEsRes T e e

FriEers T e )

(A) S8EFZ (B) 675z () 25F= (D) s5%=

A 67 meters long tram crosses 2 unnel of length 33 meters in 10 so¥inds. Find the time for the tem »
cross a man standing oa a platform of length 65 meters. ol

(A) K&K seconds (B) 6.7 seconds (C) 45 seconds T (D) 3.5 seconds

8. AWEEFTERAINr I TEEm SR EE TR I RI et s T
m%mwa@amﬁql
Two types of nice rates are ¥ 11 kg and T 21 kg Find the rago of the two types of rice to obtain 2 mixnure
of rate ¥ 17kg. =
(A) 1:1 (B) 3:1 (©) 2:3 Z D) 2:1

84. 125%FATIE TN T T I TR A TE? -

(A) 8% (B) 125§ (© 1039 ‘;-__; (D) 2059
In how much time will an amount be doubled at the rate of 12.5% 2 »‘2
(A) 8years (B) 12years (C) 10years (D) 20 years
- - - - - [ ~, *r‘: ~ - -

85, FfEa iR TR2: I FFTAALIFS 3FFTOAES Fa el 4: | FFAISsa s 8 |35
e it g 31 91 Fa e wiia =94 € 10,000 3. 1 507 31 Ags 319 314 S |
Nikhil and Reetu eam in the ratio 2 : 1. They spend in the ratio 3 : 3 and save in the ratio 4 : 1. Find the
monthly income of each, if the total monthly savings of both Nikhil and Reetu together is T 10,000.

(A) T10,000,T5,000 (B) T28,000,T14000 (C) T8,000,T4.000 (D) T2,000,% 1,000

86. T e § UF B S SUwAN % F 20% W T 2, Te 5 I F3A0 € 1 R | G = I S
SAferFan iF F1 30% TR FAT 2, T€ 00 T F 20 HF A0H TW FaT © | 900 &1 F fog ATws
EHGE S <
In an examination, a student who gets 20% of the maximum marks f@ by 5 marks. Another student who
smres30%of1hcmaximummarks,gets20mark3morelhﬂnthepas@gmarks.Theperccmagerequired
for passing is :

(A) 27% (B) 42% (C) 20% % (D) 22%

87. STae & Wid {1 qeq # 25% F1 gfg F TRomREEy, U =it 1,200 B fFm w0 w9 @i war g | ma

1 it fam iV yea wn a1 2 @
As a result of 25% hike in the price of rice per kg, a person is unable to purchase 6 kg more rice for
T 1,200. What was the original price of rice per kg ?
(A) T40 (B) T30 __{_(_1)_ T60 (D) T50
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88. wh Ffirm sl w A ad & Ry 5% Y 7 & wmamor s T 1,600 ¥ | 3 At F A wwE w0 wwte w
(@fi w7 & @i =) 39 Hf |
The simple interest on a certain sum of money for two years at 5% is  1,600. Find the compound interest
at the same rate afler 3 years, interest compounded annually.
(A) T2,522 (B) 2,520 (C) T2,355 (D) 2,555
89. T 475 3ifa 3 15% P2 TR A v A Wt g d 2
What is the discount on a pair of shoes marked at € 475 and discounted at 15% ?
(A) T72 (B) %70 <] (©) %7525 (D) £71.25
90. TF THMAT U e o ifeha e T 10% 1 P2 31 & Skt T2 et Yo7 W 8% 1 farsht ot e 2 ) Al
e forshil ot afeet W 3 w9 3 € 34,020 77 VAT 0 B, < s ged e R 2
A sl‘l(::pkcepcr allows a discount of 10% on thq:'njarkcd price of an item but charges a sales tax of 8% on
the discounted price. If the customer pays % 35{,'920 as the price including the sales tax, then what is the
marked price ? o
(A) 35,000 (B) T34,000 ©) (C) 38,000 (D) 739,000
o1 Fx3M L (x0)F e m, A2 3fkc L et
X
If the average of x and % (x #0) is m, then the average of x and xLZ is:
(A) 1-2m (B) 1-3m? O (C) 2m2+ 1 (D) 2m?-1
92. TfE 9 SHHFTA W e 1 e 132 B, A1 vgeh Fw sifew deareii 1 siat g R
If the average of 9 consecutive even numbers 15 132, find the difference between the first and the last
numbers. (H)
(A) 15 (B) 19 @) (© 18 ' (D) 16
93.  12-02-2022 % 11-02-2023 T 15% e % o1 ST 73,000 T WO ST 2 :
The simple interest on ¥ 73,000 at the rate of 1%;:& annum from 12-02-2022 to 11-02-2023 is :
(A) T10,950 (B) % 12,050 ® (C) % 14,750 (D) T13,450
94, WA T YT BATS 7T el T vy o1 2 '
(A) THeTshT (FICThr) (B) feweht
(C) Tt (ars) (D) W (IT3)
Where was India’s first airport located ?
(A) Calcutta (Kolkata) () (B) Delhi
(C) Bombay (Mumbai) (D) Madras (Chennai)
95, wma H SHawr) % fore, damedt ¥, GST‘iGﬁEF@TTj) rvites fafire (efimm) 2 2
(A) T10@E (B) T5TM@ 5 (© TS0 (D) T20¥M@
What is the threshold limit for GST registration {% businesses in India, for services ?
(A) %10 lakhs (B) %5 lakhs (C) %50 lakhs (D) %20 lakhs
96. fau e fRaw Fa v ST 8 2 ol
(A) 9 IFE B) 10T @ © 153N (D) 3 3
When is World Post Day celebrated ?
(A) 9" October __ (B) 10"October __(C) 15" October (D) 3"October
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97. S 2024 T 6 TR T F YA FA R 7

(A) fia e B) f=rzm (C) a4 fiig (D) iz urdt

Who heads the Union Ministry of Home Affairs 2s of June 2024 7

(A) Amit Shah (B) Nityanand Pai (C) Rajnath Singh (D) Narendra Modi
98.  ¥feam vt i o v i A 7 oy

The Indian National Congress was fou n which year ?

(Ay 1885 (B) 1857 (C) 1947 (D) 1905

99, mﬂmﬁmmmﬁﬂﬁ%mﬁm%?
(A) mﬁmaﬁtmﬁfﬁwmtuﬂ
(B) e Aftafiat #1 vhwifam mart #1 %07 2 a mara d @zmar w2
(C) @ 3= 27t % mra wavil & quw 571,
(D) & AFAT weAt #1 Hvan v gyy 7l 1 A w20 4wt F7 d aeEal #A 2 |
In what ways does information sharing become important in fighting terrorism 7

(A) It strengthens the military’s capabilities.

(B) It allows authorities to identify potential threats more quickly.

(C) It improves relations with other countries.

(D) It allows terrorist organizations to coordinate attacks more effectively through security agencies.

100, i 35 o e 1 v 3 o s e 4 2

(A) AR (B) FUW= < (C) 9z (D) =R
Which of India’s neighbouring country is knpwn as the “Land of Thunder Dragon” ?
(A) Bangladesh (B) Nepal (@ (C) Bhutan (D) Myanmar
101. frerferfiaa & & 181 He difen a7y £ 7
(A) FHIF (B) T a4 (C) TP (D) F=m™
Which of the following is not a Social Meg@ Platform ?
(A) Facebook (B) Twitter (3) (C) Google (D) Instagram
102. & gqufaTt e At Bt #1 3Em, 23 F1 ATE @i F IEFE T T ATE S
HEHHA T § 0eE T4 F (o0 fFa Frar 2 |
(A) farfsm (B) VPN (C) F=Efm (D) 397 fEfam
uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. O
(A) Smishing (B) VPN d (C) Catfishing (D) Image phishing
103. SHICRRAT TorsT $i T T 2 O '
(A) URZEH (B) A ® (C) ZFEf= (D) ufFa fadi
What is the capital of Republic of Croatia ”‘)
(A) Amsterdam (B) Zagreb O (C) Dubrovnik (D) Mexico City
104, ﬁqmmm%ﬁmﬁé&smﬂam%ﬁ
(A TH-EE T ® ® QUERICIC
(C) myu (D) FA=TEH
NOIDA comes under which district of Uttar Pradesh ?
(A) Gautam-Buddha Nagar (B) Ghaziabad
(€)_ Mathura - D) Bulmsdahw
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97. A 2024 TF HY T8 WA F W@ HAR ?
(A) ifia og (B) ez (C) Ty fiie (D) iz A
Who heads the Union Ministry of Home Affairs as of June 2024 ?
(A) Amit Shah (B) Nityanand Rai (C) Rajnath Singh (D) Narendra Modi
98, s’f?m#maa:ﬁaﬁmmﬁwaﬁﬁgim
The Indian National Congress was foundcg:ifl which year ?
(A» 1885 (B) 1857 (C) 1947 (D) 1905
99. Wﬁﬁa@ﬁmmmﬁmaﬁéﬁ)ﬁﬁa@ﬁm%?
(A) T8 81 &I i AT AT 8 | ©
(B) wmﬁmmﬁﬁ%ﬁﬁwﬁﬁmmﬂ
(C) T8 311 211 % WY Hapelf & U T,
(D) T AT WS 1 GeaaT Tt gyt gl sl fersh STl 1 & Twfeara e § Heraral el & |
In what ways does information sharing become important in fighting terrorism ?
(A) It strengthens the military’s capabilities.
(B) It allows authorities to identify potential threats more quickly.
(C) Itimproves relations with other countries.
(D) It allows terrorist organizations to coordinate attacks more effectively through security agencies.
100. “a & fre gt am 1 %rstémﬁx@*@wﬁmm% ?
(A) wieTe (B) Ui ] (C) R (D) HMR
Which of India’s neighbouring country is [cﬁ)wn as the “Land of Thunder Dragon™ ?
(A) Bangladesh (B) Nepal ® (C) Bhutan (D) Myanmar
101. Frefefd & @ $1H-81 Here fifea erew i TE 2 2
(A) FEGH (B) @ (C) T (D) $=nmy
Which of the following is not a Social Medig Platform ?
(A) Facebook (B) Twitter (@) (C) Google (D) Instagram
102. % gwlamryl wrset arelt Sfadi #1 3w, [ F 39 @R A TFHR T IT ATTF FK A
" H 8 7e8 F & foe frrsmar 2 |
(A) fafim (B) VPN (C) el (D) 30 fisfam
uses images with malicious files in them, meant to help a hacker steal your account information
or infect your computer. )
(A) Smishing (B) VPN <I (C) Catfishing (D) Image phishing
103. SRICRTET TURTSY T TS T R 2 O '
(A) TREEH (B) SIM& P (©) Fafe (D) AfFw! g
What is the capital of Republic of Croatia ’{;,) :
(A) Amsterdam ®B) Zageb “J  (©) Dubrovnik (D) Mexico City
104, ioeT I 939 o fore foret 3 aianla ammar 2 ig
(A TAH-g8 TR ® (B) wmfsmmETe
(€) wgu (D) eIt
NOIDA comes under which district of Uttar Pradesh ?
(A) Gautam-Buddha Nagar (B) Ghaziabad
_____ (© Mathva (D) Bulandshahar
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105. fofta feerar 1€ (Fsp) a2 9
(A) 7 faefta o gfaferm e @)
(B) 7w g e i 35 o e it ) P v
(C) T® 31T wewe 2wl # faewft may sign #1 waive w1 |
(D) I% Fysrashia 30t = frefta aerad vam w@ )
What does the Financial Stability Board (FSB) do ?
(A) It ensures financial stability, )
(B) It regulates interest rates for central banks wotldwide.
(C) It manages the foreign exchange reserves uﬁi member countries.
(D) 1t provides financial support to developing countries.
106. STTHC o FiE USast & &9 § F 1 T @1 2 (:}J
(A)  iftrary s (B) WETEER - (C) frem i@ (D) ifeer TrgehoT

Who was chosen as the brand ambassador of GS

(A) Amitabh Bachchan (B) Shah Rukh Kha? ) (C) Shilpa Shetty (D) Deepika Padukone
107. TRHTV] Jstt o6 IeTeH o T h-a1 ot STawH 8 0
(A) Ffrm (B) (€) EEeA (D) faferri
Which element is essential for the production of nuclear energy ?
(A) Uranium (B) Carbon (C) Hydrogen (D) Silicon
108. % whieie size T foreet 2 @)
(A) e g @) afime s
(C) =W Aafae O (D) W&
Who wrote “The Scarlet Letter” ? &)
(A) Nathaniel Hawthorne '~ (B) Washington Irving
(C) Herman Melville \-'(D) Mark Twain
109. m%mmmﬁmm%mmm@mﬁ@wmgﬁma?
(A) HEgH (B) &= Q) (C) T (D) VU=
Which social media platform has a feature called “Streaks” to encourage frequent communication between
users ?
(A) Facebook (B) Twitter (C) Instagram (D) Snapchat
110, geord TS it Teryr el fua of 2
(A) T (B) Hiegw Q©) *E (D) T
The capital of the Pallava dynasty was located at {j
(A) Madurai (B) Kanchipuram (_ (C) Mysore (D) Thanjavur
111, fr=fafEa & & wiH-di s S s & == 792
(A) T A® famhie T
(C) 49T PeeTet wmga ?i’h (D) *-Tocg AE
Which among the following lines is a boundary bEBJccn France and Germany ?
(A) Senger Line @) (B) Siegfried Line
(C) 49" parallelLine ™ (D) K-WLipe
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112, fadm = wefemem (DGET) e vamer & ofefa amar @ 2

113,

114,

115,

116.

117.

(A) aforsa A e e

(B) fam e

(C) fazwmmem

(D) e, T v o S e

The Directorate General of Foreign Trade (DG FQ';qmes under which Ministry ?

(A) Ministry of Commerce and Industry y
(B) Ministry of Finance \]
(C) Ministry of External Affairs ()

(D) Ministry of Mirco, Small & Medium Emer{)}j?es
m;ﬁ SRR HeT 3 e 3 e e et A adht % forg v 2 3 Rl A e @
(A) i (B) iR :g(q Bl (D) AR

The Indian Agricultural Research Institute has de@}nded legal action against which country for cultivating
basmati varieties protected in India ?

(A) Pakistan (B) Afghanistan (C) Bangladesh (D) Myanmar
FH-81 W T2 3eft 37t ameeht® feepem 3 forg st smar 2 2 -
(A) 3fifem (B) HEH W - (Q W (D) WERTY
Which Indian state is known for its unique ‘Warli’ paintings ?

(A) Odisha (B) Madhya Pradesh <] (C) Rajasthan (D) Maharashtra
TRTHIRI SATHOT 3T FTTe 10 47 & 2 0

(A) WS % 99 3 afg = (B) i waelt gsheA

(C) = = © (D) FA-I ERT CO,, 1 HaTIgoT

What is the primary cause of ocean acidification (

(A) Increase in sea-water temperature E (B) Overfishing

(C) Oil spills (D) Absorption of CO, by sea-water
et U e war Vet 8 foreht et 3w aw & fomm wee d g€ oft 2

(A) (B) AT (C) drer (D) &ETH
“Chikankari is a traditional embroidery style that originated in which city of Uttar Pradesh ?
(A) Varanasi (B) Prayagraj (C) Noida (D) Lucknow
HTEHT 3 el 1 & 1 )

(A) a7 % e Fict FHTeT H1 SFF9er <]

(B) it 3o 1 3ufeafq ®

(C) vaa bt &l wehivi (foraa) ©)

(D) 9TF % VY g g4 o bt b b

The main reason for the blueness of the sky is s
(A) the absorption of blue light due to the air o
(B) the presence of water vapour ®)
(C) the scattering of white light

(D) the scattering of sunlight by air molecules
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118, T g1 16, o &1er 1 o e & o, Rrm @ar AR 99

(A) Tl (By pesitet (C) %=wfrm (D) frke

Raman Subba Row, who passed away recently, ‘{-fab associated with which sport ?

(A) Hockey (B) Football (C) Table Tennis (D) Cricket
119, Freferfs # & foFe w1 swor wad (aﬁa)aﬁ?ﬁm% ?

(A) Sy wEe (B) ﬁrﬁnagw () (C) & g (D) T YgEw

Which of the following types of pollution is cult@@il (accelerated) eutrophication ? _
(A) Thermal pollution (B) Noise pollution < 1 (C) Water pollution (D) Soil pollution

120. ST BT 67 HH-81 90T T ¥ i Fers Rl @ gafm 2 2

(A) I (B) ¥l ol (C) WMV (D) WTTIV
Which part of the Indian Constitution deals with{lie Directive Principles of State Policy ?
(A) Partlll (B) Partll (C) PartV (D) Part1V
121. e T W frawie fras gro foret wé ot 9
(A) Afretteror W (B) werdt ami
(©) Hdeia frardt Frem , (Dy SETEEe H6
The book ‘A Life Misspent” was written by whom’?
(A) Maithilisharan Gupt (B) Mahadevi Verma
(C) Suryakant Tripathi ‘Nirala’ (O (D) Jawaharlal Nehru
122. 1946 % fmpdieror F & RBI F AR a2 ©
(A) . gew (1 (B) Feiamor greTT Yo
(C) iftheria g H: (D) NTwRe
Who was the Governor of RBI during the demofiétization in 1946 ?
(A) D. Subbarao ® (B) Chintaman Dwarakanath Deshmukh
(C) Shaktikanta Das (D) Urjit Patel
123. et SR U i fifer = difva FHird oft 0
(A) H™ 2002 (B) TS 2000 (C) &t 2004 (D) =T 2004
When was the first ever National Agriculture Po{i\cy announced ?
(A) March 2002 (B) July 2000 <f (C) January 2004 (D) March 2004

124. BRIF Q0 &4 FTE 2

() ez e fafeers dee g (BY Fee v b g
(C) dfae iz Us shififen O (D) e UE Tre gfHfmfe
What is the full form of BRI ? el
(A) Belt and Republic Industry ol (B) Belt and Resource Initiative
(C) Basic and Road Initiative (@) (D) Belt and Road Initiative
@. fafire saferat i 38 wa i GRa i ot § e T HiRw wE @ s ey Fm € |
(A) whfHn (B) g T (C) T fowfm (D) B
tries to trick specific individuals into jeopardizing the security of the organization they
work for. :
(A) Sneaking (B) Cyberstalking (C) Spear phishing (D) Spamming
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126. NHRC Fq0 €77 8 9
(A) 3 T Tz e, dfem
(B) NIe & Tsew aftr, 3
(C) vt 7 Tfear e, dfan

(D) et et wgem e, 3 0
What is the full form of NHRC ?
(A) Natural Human Rights Commission, Inc@

(B) National Human Rights Commission, Indja

(C) National Human @E@Com@s@%i—a\

(D) National Humanity Rights Commission{dhdia
127. 99 1985 F FA-41 ﬁm@ua&u‘rﬁaﬁmw@?

(A) T (B) 3 H (o ufn (D) T=3
The year 1985 was declared as the lnlcmatiovg‘{ear of
(A) Youth (B) Blind (C) Women (D) Children
128, e fafirat saerared i sfafrnail & smom o I meT AR A Al S A S w5
e e €| |
(A) WHTH (B) THH
(C) T O (o fifim
research methods allow for in-depﬂ and further probing and questioning of respondents based
on their responses. O
(A) Quantitative (B) Action
(C) Qualitative ® (D) Mixed
129. 3hIET % HR-IR IS TTH aTet U8 ST i 8 7 |
(A) WEFF (B) sfm famer o5 © Al st (D) fomm s
Who is the first person to run across Affica ? P
(A) Russ Cook (B) Dennis Kimetto (C) Kenenisa Bekele (D) Sisay Lemma
130. T YRGS T el T H AT R 2
(A) e (B) WEHd (C) Fom (D) TETEd
What is the name of the longest river in Peninsular India ?
(A) Narmada (B) Mahanadi ()  (C) Krishna (D) Godavari
131 a3 Sl e e 5 ] 3 R s T AR ST i H T AR
afeg ZRT ferenfira o | |

The United Nations Commission on Human Rjghts was replaced with the United Nations Human Rights
Council for the enforcement of international haman rights law in the year y
(A) 2001 (B) 2000 (C) 1998 (D) 2006

132, oy e e g, o g i s 2

Given the pattern in the provided combinatio@how would you express the combination represented

by *7° 2
AZ3B, CY6D, EX9F, ?
1
_____E{&-)__IVISJ (B) _GW12H ___; _____ (El_Z\T_Zi?lO (D) kX8
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133. o Aiten it i ma F@ gu Pfer 3 @, <a 30 w7 R At ¥ gl a2 A 38 R | Fofen 1 39 wReer @
FTEET 2

(A) (B) a3 © ==l e (0) W&

Pointing at a woman, Nirmala said, “She is the dauggTr of the only son of the mother of my sister.” How
is Nirmala related to the woman ?

(A) Mother (B) Paternal Aunt gy Cousin (D) SiS‘eI_‘
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(A) arfrd B) FemE - % v (D) WT-orTr &
Soap is related to Clean in the same way as Perfume (@}elated to :

(A) Freshness (B) Smart (C) Smell (D) Neat

135. ST SER FTR ?
What is the next letter ?
10 S O
(A)J U B) T

@ e s & Ieft e Weiftr & fire g somden wefa ¥ Q)
(A) FRA (B) Sfrd (L[V

(D) R

CoA O

© fowda e o,
Curtains are related to fabric in the same way as b!in%)are related to : Q/ '
(A) Covers (B) Cords

(C) Lifters (D) Slats
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Given the ttem in the provided numbers, l@: WO

b ¥
1,1,807,26, 135, 2, 343

you express the n nér' represented

' ;b

(&) 34, ®n ) (D)
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(A) 10HX @ 15 Wiex ) E’
(C) 18#X 20 HieX '
A person walks 15 meters east, then turns left and walks 10 meters, then tums left again and walks
15 meters. How far is he from the starting point ? T
(A) 10 meters (B). 15 meters
(C) 18 meters (D) 20 meters
77 2 T 2
D
THE
WERSITE @ Watermarkly
, s CamScanner

[
Shasat


https://v3.camscanner.com/user/download

—

-

145. 140 fornffat 3 weleor & wram wa 6 60 Ryemeff it oy Qe gg w5 &, 70 feremeff 772 i @er ga
Fd &, T 75 Tt arraeer fin e vhe ¥ | 3u il 30 o R 3R STEeE A A TH
18 %t fifeat iy ik aveen T 3T O wHe &, 42 1 A i ot R i 3T Wt gag €, 79T 8 w
TR & Tl GHE & | 3 3 1 TGN H0h I BT 1 J10 T 31 Fhaed AT3CER U Werd ¢ |

In a survey of 140 students, 60 students like to pla}y video games, 70 students like to play indoo
and 75 students like to play outdoor games. Additignally, 30 students like to play both md&(o%and j
games, 18’ like both video games and outdoor gﬁ es, 42 play both video games and indoor|gamcs
8 like all types of games. Use the Venn diagram l{fmd the students who play only outd f, mes.

(A) 64 (B) 35 (S) =) (€) 32 (D) 5?
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(A) STCuEy (B} Tfiqur.gfym @) (C) (D) aféor-gd
If you start facing South-West and turn 180 degrees to your righf, what direction are you facing now ?
(A) North-West (B) South-West (C) North'East (D) South-East

147, aﬁmwﬁqﬁmfﬁraﬁtg’gmmmﬁ?ﬁ‘ m%ﬁmmﬁqﬁmﬁ%m@%%‘f’

(A) & (B) ufdm (D) JW-IEH
Which direction are you facing now, if you turn 27(] degrees clockwise from facing west at the begmnmgl% é 0
(A) East (B) West (O () South (D) North-West

@8' ”ﬁP>q=p2+q3aﬂw<q=P3“fz’aﬁ’“’2}%:

Ifp>q=p’>+q’andp<q=p’ -’ then (1 > 2f 3=

(A) 480 . .. (B) 600 g((:) 840 (D) 720 .
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Examine the following sequence closely and resp(ond to the question that follows.
RK59#B2%*E'?A8LSI4SV?'CGN@i—;I 3D

How many letters are there, each of which is i ediately preceded and immediately followed by a

symbol ?

@ 1_— @ @ © 3~ ®) p—
150 Frforfaa & F-d AT & s d 2 ?
b
(A) (B) ¥ o3 (C) it (D Fror
Which of the following shapes is different from t@)-est ?
(A) Square (B) Circle (C) Sphere (D) Triangle
o3 7 O e e
ASA
‘?\*5\! T,g{oo
£/ T 2L -
EDUCATIONAL . >
WEBSITE O Wamrmark!y
%, S CamScanner

G
*"HA saTAY


https://v3.camscanner.com/user/download

